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2 | 2RBER 3By = f() O FHUWBE F(x) 2 RD & SI2ES.

FEB iz T, fla)=f(x) z-ZdmAkDazsl)

Flx)=a—=x

LREDD.

WzIE, f(x)=220858, EBx 2L TanAER f(a) = f()ida2=22ThY, a=txrk%. L
2R oT, TD2O00adD>HbREVG%2ENIERERS.

r<0ntXa=—xizkV) F(x)=a—xr=—2x=2|z]
r2>20DeFa=x2&) Flx)=a—x=0

PRTIE f(x) =23 —30%x (b>0)IZwL T, FOBETCEDZBEBF(x) 2% 2 5.

(1) F(=b), F(0), F(b) Dfiz ke k.

(2) F(x)=0&%R2 xD&EiHZERD L., £/ F(x) > 08452 xDHPHZRD K.
B) Flx)> 0,523 xizxtl, fla)=f(xr) 2~ HRADa% r ODRNTEE.
4) BBy = F(x) 23k, TDT 7 708FE N T. F/2 F(xr) OKAME% R &.




